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It is a good practice toreview answers and analysis. Toreview, click on

BUY NOW

individual item s below. please rate and provide feedback asyour review. Your

feedback we will help usimprove this course and provide you with upgrades.

Items Chapters

# Item Correct Your Result
Answer Answer

What server side changes
arerequired tomigrate an
existing application
from...

A,B,E A,BE Correct

Which of the following
annotations can be
applied on a class, field,
and meth...

E,F EF Correct

You work as a Software
Dev eloper for BlueTech
In...annotations will y ou
use t...

C Correct

Drag and drop the name of
the transaction attributes
tomatch with their
char...

Correct

BookMark
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11

12

13

14

Item Correct
Answer

What action is taken by
the container ifthe fol...ot C
specified.An applicatio...

You want to declare a
classnamed Hello1 that
us...the appropriate code
value...

Which of the following
annotationsis used to
fo...ception torollback a
tran...

Which of the following is
the correct static que... s
FROM student s WHERE
Se...

D

Consider the following
conditions: If
transactio...bove are
satisfied by a CM...

B,C

You work as a Software
Dev eloper for BlueWell
In...ption is thrown from
thes...

B,D

Suppose an EJB client code
isinvoking the
calcu...rinted after
invocation of...

Choose and reorder the
steps that should be taken
for implementing a
stateful...

A client wantstouse a
stateless session bean E...t
retrieves the component

You work as programmer
for uCertify.Inc. You
are...following statements
arec...

A,C,D,E

Your
Answer

B,C

B,D

A,D

A,C,D,E

Result

Correct

Correct

Correct

Correct

Correct

Correct

Correct

Correct

Correct

Correct

BookMark
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Item Correct
Answer

You have the following
two entities with a
many-...f annotations
correctly de...

Your
Answer

Result

Correct

BookMark



